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B.A. (Part-111 ) EXAMINATION 2012

Sccond Paper : 1. Management Accounting

Time : Three Hours rtuonline.com Maximum Marks : 1M
PART-HOBIECTIVE)
rtuonline.com Mazimum Marks : 30
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1. (i}  Give two difference between Management Accountng and Cost
Accounting,
T AEA U A AiEE F S e
(il  What de vou understand by Financial Analysis ?
Forefte Fwdraa & sve v ome ¥ ¢
(in) Calculate operating leverage from the followinp data.

Sales Rs. 75,040
Varable Cost 50% of sales
Fixed Cost Rs. 15,000
fa=1 75000 B.
fadeits e faal =1 50%
Tt T 15000 &,

(ivi What do you understand by Funds Flow Statement 7
T AT PR W AT o wHE € 7

(v} [Ifthe total current assets and 1ofal current liabilities of a firm are Rs.
336 I3 and Rs. 180 Jac respectively, what would be the mount of
,ma';jhmnm bank credit according 1o second method of Tandon Com-
itter 7
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A firm has expecied CRTT R 320,000, It is not alevered firn, The tay
rate 18 50% and after 1ax capitzlisation rate is 16% . What 5 the
value of firm under M-M approach

& w1 WeTae A=A | [ S (EBIT) 320000 % B
U FHAE BH AT ¢ | R E ST 509, TR H TER GAEN E]
22 16% ¥ gz & 3= od g = e

What is explict cost of capuial 7

{1 F w2 e Fm g 7

What is profit céntre 7

My k=g Y

What 1s management information system 7

YR W el 1 g 7 rtuonline.com

Explain in briic Activity based cosung §ysrem.

feem apanive arma woned F7 a=T 4 yEsEd |

What 15 wandow dressing i Accounting ?

darEe § foaretry s S g 0

Explain “Trading on Lguiy”

YAl W G F AHARL |

A nroject requires an initial investment of Rs. 2 000 and which in-
violves o net cash fow of Rs, 50,000 esch vear for § years. Cost of
capual is 10%. Find out net present value if PV, of Re. 100 for 8
vears a1 10% discount rate m 5,335,

TF YA E 2 00 000 . W A =1 svavara £ e IR
a a4 4% wfa = <0 p00 . ey srate &1 wifw St 9t & A
It i g aiaA T A sifag Qe s a Fom 10% T v 5,
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Fromthe followmg pariculars compate funds from operations

Famiculars 31-3-2010 J1-3-2011

(Re.) {Rs.)
P& L. Appropriation Alc 30.000 40,000
General Reserve 20,000 25000

Groodwll 10000 5.000



Preliminary Expenses 6,000 4,000

Protvision for Depreciation 10,000 12,000
ot fearol & wftarem @ =i =1 o #ifad ;. tuonline.com
fararor 31-3-2010 31-3-2011

(%.) (%.)
arH-EEET 30 000 40 0O
WY HEa 20,000 25 000
=T 10,300 5000
WA = 6,000 4 000
HERH SUErarT 10,000 12,000

(v) Explain any four characteristics of a good reporting system.

T 3 wiHds wored! & S ST e |

PART-II (DESCRIPTIVE)
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3. {(v) M Ltd had total capitatication of Rs. 10 crore consisting entirely of
cquity shares of Rs. 50 each. It wishes to raise another Rs. 5 crorc
for expansion (hrough one of of its following two possible plans :

) All equity shares of Rg. 50 each.

{{)  Alldebentures ol Rs. 100 each, carrying 9% interes.

The present leve! of EBIT is Rs. 50 Lac and Rate of tax is 50% . You
are erquired do ¢aleulate EBIT level at which earnings per share
would remain the same wrespective of raising funds through equity
shares or debentures. Also caleculate EPS at point of indifference.

Tum W § 1 9% Ty Srdemed F | et wE w et fawnd & fog
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The following data regarding leverages and costs of 2 company are
given below : rtuonline.com

Operating leverape 2.1
Financial leverage izl
Tax Rale P&, 10 fucs
Variable cost 50%

Prepare income statement of the company.
TH FO9E1 F To0+E U8 o O 39S e wen .

YRR IR 317
adlg s 3:1
=T gl Rt 78
FL i T 5P
T w1 2 faaem e i

Explain the teom *Management Accounting’ and state its objectives,

'SR I e T A A Y Ty |
Estimate working capital requirements oG Uid. from the follow-

mg information : rtuonline.com
Weekly production and sales 4,000 omits
Selling price ’ Rs. 30 perunit
Cost Dats:

Darect Material Rs. 12.50 per unit
Direct Labour Rs. 5.00 perunh
Overheads Rs. 40,000 per week
Frtetem et @ b fafhde #t wrdvitm 5t =1 s
HAA T

wranfes seareT o fan 4,000 TEEA
P e 30 %. wfa 7=
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Section-B ( ©0Z-q )

5. (a) Using the following data complete the balance sheet given below:
Gross Profne rtuonline.com Rs.
Sharcholer's Equity 54,000
Gross Profit Ratio 6,00,000
Credit Sales to total sales 2%
Tatal Assets Turnover &%
laveatory Turnover 0.3 limes
Average collection period {360 days & year) 4ume
Current Ratio 20 days
Long-term Debt to Equity 4%

Blalance Shert

Liabilities Rs.  Assets Rs

Creditors —  {ash —

Long-term Debt —  Debtors -

Shareholder's Equity —  Fixed Assets v

foefifira il 1 Wi 0 A P g P o Wi

G,
WA 7Y 54 SO0
il aft wuar 6,00,000
s fowra g Fesrg 20%
FH T A 0.3 T

Y FEY 4T
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(b) - Wheat 5 meant by Analysis of Financial Starements 7 Dijscuss 15
objects and hmitanons. rtuonline.com Fd+S
ferily foraovil % fageinm & #41 oIa ¥ 7 59 3593 T |onsi
JHorg A | |

6. Prepare a Cash Flow Statment (As per As-1) raiy e following balance
sheet of Oswal Lid -
Balance Sheet

Liabilities 31-3-2010 31-3-2011

(Rs.t {Rs.)
Equaty share capital 200,000 250,000
Securities Prennun — 10,000
Reservies and surplus 40,000 115,000
| J%¢ debentures 120,000
Provision [or Tax 30,000 40,000
Trade creditors 758,000 115,000
Bills Payable 15,000 12,000
Outstanding Expenses — 12,000
Total 360,000 6,74,000
Ascptg 31-3-20H0 31-3-2011

(Rs) (Rs.)
Goodwilk 50,000 36,000
Mant ar] Machinery 1.20.000 2, 10,000
Stock 1.02.560 2.00,000
Dehioes 50000 1 20,000
Cash and Bank Ralance 13,004 32000



Prepard Expenscs
Share issue Expenses
Underwriting Commission

Total
Additional Information :

12,000
3,000
10.000

3,60.000

10,000

6.000
6, 74,000

rtuonline.com

(i) A Partof machinery whose original cost was Rs. 50,000 (accumu-
intad depraciation was Rs. 27,000 ) was sold for Rs. 25,000.

(ii)y  Depreciation on machinery charged duting the year Rs. 15,000,

(il  Dividend for 200010 paid during the year (@ 15% on equity share

capital.
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31-2-2010
2,000,000

4D 000
30 200
75 000
15 000

3 60000

31-3-2010
(%.)

50,000
1,280,000
100,000

50,000

13,000

12 000

5,000

= JER i BB L

31-3-2019

2,50.000
10,000
1,315,000
1,20,000
40 000
1,35 000
12,800
12,000
6.74 000

3-3-1011

(%)

36,000
2 A0,DO0
2,10,000
1,20,000
52,000
10,000
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Section-B( @UvE-)

Rs.

7. (i} Calculate a weighter average cost of capital structure : 20,00,000
Equity share capital (1.00,000 shares) 5.00.000

10% 'reference share capatal (Rs. 100 cach) 1.5,00,000
40,00,000

The market price of the company's equity share i3 Rs. 15, It is expected

that company will pay a current dividend of Rs. 2.6 per share which will

grosr at 5% for ever. The tax rate may he presirmed At S0%. You are required

114 I rtuonline.com

(1) Calculate a weighter average cost of capital baged on existing capi-
tal structure. L

{ii)  Calculate the new weightage average ¢ ﬁ:ﬂ 7T capital {Tthe company
raises an additional Rs. 10.00 D00 debt by 1ssuing 14% dehentures.
This would result in increasing the expected dividend to Rs. 2.70
and leave the prowih raie unchanged to Rs, 2.70 and |eave the
growth rate unchanged but the price of share will fallto Rs. 15, 20

Ta fefaes & 44 draen 1 e d . %
W 37 YA (1,00,000 HA) 20,060,000
| 0% qalfusr am gait (100 & wei) 5 00,000
| 29 %0779 { 100 ¥, W) 40 00 000

HEET ¥ [Om S W A e 08 7. ¥ 4E s = W € st

2.16 %. Wiy siw =ham smaiw ) yrar FO A e $% % 2R =)

T W 7T 50% et o e & s Y
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